
 

If I know…. then I know…. 

Using what you know to find out what you don’t know… 

26 x 7  
Calculate: 26 x 7 = 182 

X 20 
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39 x 6  Calculate: 39 x 6 =234 

X 30 9 
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48 x 6  Calculate: 48 x 6 =288 

X 40  
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Challenge 

1.                                                                                                               2.  

                           

£280                                                    136 flowers. 

If I know…then I know… 

 

If I know 2 x 7 = 14 

then I know 20 x 70 = 140 because 20 is 10 

time greater than 2.  

If I know…then I know… 

 

If I know 3 x 6 = 18  

then I know 30 x 6 = 180 because 30 is ten 

times greater than 3.  

If I know…then I know… 

 

If I know 4 x 6 = 24 

then I know 40 x 6 = 240 because 40 is ten 

times greater than 4. 


